
Información Técnica
Relación de piezas y planos despieces

CE24E (2400100) CEPILLO GARLOPA CE24E | Versión A

57 56 55 5 54 53 52 51 50

2
3

6

12
13

11
10

8

15
14

26
24

22

16
17

18

25
15

38

37

36

35

42

31

32

28

29

30

49

39

40

41

21

34

20
19

58

42

23

48 47 46 44

5
4

1

45

9

33

7

43

27



Información Técnica
Relación de piezas y planos despieces

CE24E (2400100) CEPILLO GARLOPA CE24E | Versión A

Pos. No. Serie Código Descripción Cantidad

1 2419151 ADHESIVO LOGO VIRUTEX (E-08028 BCN) 1
2 3570026 TORNILLO AUT. 6x1 1/4 PH.B. 2
3 2402207 REJILLA VENTILACION CE24E 1
4 2426082 RESORTE PROTECTOR CUCHILLA CE24E 1
5 7978004 TORNILLO TRILOBULAR C.ALOM M.4X25 PH. 6
6 2402206 CARCASA MOTOR CE24E 1
7 2404188 CASQUILLO ANTIVIBRACION D22 1
8 2455098 ESTATOR CE24E 230V 50/60Hz 1
8 2455099 ESTATOR CE24E 110/127V 1
9 2402208 DEFLECTOR AIRE CE24E 1
10 1910002 RODAMIENTO 608-ZZ 1
11 1981001 ARANDELA DENTADA d.4,3 (DIN 6797-A) 2
12 9570044 TORNILLO AUT. 8x63 2
13 2451104 ROTOR CE24E 230V 50/60Hz 1
13 2451105 ROTOR CE24E 110/127V 1
14 9310026 RODAMIENTO 6001 ZZ 1
15 2370005 TORNILLO AUT. 10x3/8 PH.BZ. 8
16 2300029 CONEXION 2x1 SIN MANGUITO 1
16 2300030 CONEXION 2x1 CL. PLANA 1
17 8002043 MANGUITO CORTO 1
18 4302025 BRIDA FIJACION CABLE 1
19 2003057 EMPUNADURA A92/CE24E 1
20 1970001 TORNILLO AUT. 8x1/2 PH.B. 2
21 3003068 PROTECCION INTERRUPTOR 1
22 3515034 INTERRUPTOR 1
23 9168121 CONDENS. ANTIPAR. 250V 0,22uF X2 1
24 2003058 TAPA EMPUNADURA A92/CE24 1
25 7170024 TORNILLO AUT. 8x1 PH.B. 3
26 1025100 POMO CG M6x17 mm 1
27 2425072 POMO PATIN CE24E 1
28 2487083 POLEA MOTRIZ CE24E 1
29 7278006 TORNILLO TRILOBULAR C.ALOM M.5X20 PH. 1
30 2023032 TAPA PINONES CE24E/A92 1
31 2487081 CORREA DENTADA CE24E 1
32 2487084 POLEA CONDUCIDA CE24E 1
33 3502194 ARANDELA INDICADORA 1
34 2406165 CARCASA CE24E 1
35 2000023 CJTO ESCUADRA A-92 1
36 2026036 MUELLE PATIN 1
37 2004020 JUNTA PATIN A-92 1
38 2406164 PATIN CE24E 1
39 7510015 RODAMIENTO 6201-ZZ 1
40 2323030 GUARDAPOLVO RODAMIENTO DE 32 1
41 2033031 ARO FIJACION RODAMIENTO A-92 1
42 8678008 TORNILLO TRILOBULAR C.ALOM M.4X10 PH. 4
43 2422166 TORNILLO SOPORTE CUCHILLA 1
44 5323141 LLAVE FIJA E/C 8 1
45 2446121 PORTACUCHILLAS COMPLETO CE24E 1



Información Técnica
Relación de piezas y planos despieces

CE24E (2400100) CEPILLO GARLOPA CE24E | Versión A

46 2446179 PORTACUCHILLAS CE24E 1
47 3540118 JGO 2 CUCH MD REVERS 80mm CE35 1
48 3599101 JGO 2 SOPORTES CUCHILLA REVERSIBLE 1
49 2011001 RODAMIENTO AGUJAS HK 1010 1
50 2071002 TORNILLO EXAGONAL M.6X10 (DIN 933) 2
51 2080002 ARANDELA PLANA d.6,4X12,2X0,8 2
52 2023026 GUIA PROFUNDIDAD 1
53 2006036 SOPORTE APOYO EJE 1
54 2402210 PROTECTOR CUCHILLAS CE24E 1
55 2318004 LATON ESCOBILLA A-92 2
56 2318005 AISLANTE PORTAESCOBILLAS A-92 2
57 2417021 JGO 2 Un. ESCOBILLA 1
58 2402101 TOBERA ASPIRACION A-92 1


